AomMawiHee 3apaHMe

1. MAay noaHAAW € 3€MAU, OTHECAU Ha BEPXHWW 3Tax
MHOMO3Ta)HOro AOMa, MOCAE Yero COPOCUAU Ha 3EMAIO U
AOXAAANCH, MOKa OH He OKa»eTcA B NoKoe Ha 3eMAe. HeMy paBHa
pa3HuLa NOTEHUMAAbHOW SHEPTIUU MAYa B Ha4yaAe U B KOHLLE 3TUX
Aencrteun?

2. HYemy paBHa NoTeHUMaAbHadA aHeprua mava, maccou 1kr,
HaxoafALWeroca Ha BoicoTe B 1 MeTp Hap 3emMaen?

3.

A chunky tree frog jumps from a tree in an attempt to catch a small, speedy fly. Both are in mid—air and
have the same kinetic energy. Which of the following statements is true?

a. The fly has a greater speed than the tree frog.

b. The tree frog has a greater speed than the fly.

c. The fly and the tree frog have the same speed.

d. The kinetic energy cannot give information about their speeds.

e. The direction of the fly and the tree frog must be taken into account to compare their speeds.



